FY-432 [N

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH - 2024

Part — II1 Time : 2 Hours
STATISTICS Cool-off time : 15 Minutes

Maximum : 60 Scores

/General Instructions to Candidates : \
e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 11. Each carries 1 score. (10x1=10)

1. The amount of time required to complete a project is type of data.
(a) discrete (b) continuous
(c) nominal (d) qualitative

2. Suppose we have a data regarding the number of dengue fever cases reported in
different districts of Kerala in a particular month. The type of classification for this data
is
(a) Manifold classification (b) Qualitative classification

(c) Chronological classification (d) Geographical classification

3. The sum of deviations of items in a data from their Arithmetic Mean (AM) is always

(a 1 (b) 0

(c) -1 (d o

4.  Geometric Mean (GM) of 2 and 8 is
(@) 2 (b) 8

(c) 4 (d) 10

5. The central tendency which is to be most likely affected by extreme values.
(a) Mean (b) Median

(c) Mode (d)  Quartiles

FY-432 2



1 2)®@8 11 2190088 621034683 a@o@aslel)o 10 ag)gnOTIM 2OMOOAN®)d.

1 capod allo. (10 x 1=10)
. 80)aeuo)] a)RTHWISHHMSIEHNAM TLAWO @0 AWIQWOE.

(a) eaiolsg (b) @sad

(c) MoODaIONOW (d)  »pemomas

2. coogonieel allallw #HeldSIo8 (IC®HAIMo GO SIOTI®  HWE] ol

MNIOUI®OS ag)sNo afleovo a1Byfleeemadsm .
(a)  nIa0)®El AIBYH:06mMo (b)  vpEMoImAB AIBYlB0smMo
(€)  @0ePMIVI® AIBYld0sMo (d)  ©aluooaa 10 AIBYB06mMo

3. 20wiemIGmIaNe af)elo AlleIgBoMMBB AII®PRAVEBROS @)D af)LjoWE[09)o

ARGl BN)0.
(@ 1 (b) O

() -1 (d o

4. 26008 @p 8 6ad @) 2aleilw aowe (GM)

(@) 2 (b) 8

(c) 4 (d) 10

5. @pwallels8)ns auoulmoe enIdWIEHM G(M3 (AIQIMD aG® ?
(a) @oWyo (b) Wm0

(¢) cmoaw (d) 210U
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6.  If the highest value of a set of data is 70 and its range is 50, then the lowest value is

(a) 120 (b) 20

(c) 50 (d 70

7. Half of the difference between third quartile and first quartile is called
(a) Quartile Deviation (b) Standard Deviation

(c) Mean Deviation (d) Range

8.  If all the values are same, then the value of standard deviation is

(@ 1 (b) -1

(c) Same value d 0

9. If the two events A and B are mutually exclusive. If P(A) = 0.4 and P(B) = 0.2,

then P(A or B)
(a) 04 (b) 0.6
(c) 02 (d o0

10. Probability of occurrence of an impossible event is
(@ 0 (b) -1

(c) o (d 1
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6. 80) &) wogues alelle afler 7090 aldlul 5090 @RI ealclw  allel

(a) 120 (b) 20

(c) 50 (d 70

7. @ANOAOO 2l®)OUDALe BANIAAGM al®)O0U00Ne GARIENSS QlYMPIVGITOM]

ald)@l @yeIn.
(@) 21@)000Ud QIIWOMo (b) @0mM& AI@IWOMo
(c) a@lom MWL (d adldl

8. af)e)o afleld8)o BCO CaldnLIWINEMEGIGE 20ME aliGIl@IMEXilang aflel

(@) 1 (b) -1

(c) @ocecmailel d o0

9. A, B ag)a7fl 06n€ gDAIG)HUB aldMValo cHalremgosm. P(A) = 0.4 9o P(B) = 0.2 9o

@yeeMeslad P(A or B) ag)@ ?

(a) 0.4 (b) 0.6
(c) 02 d 0
10.  qorafl¥Hda8 MWDo %H00iONONG ¢ lomimileig @6
(@ 0 (b) -1
(c) oo (d 1
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11. If the population contains 4 values then the possible number of samples of size 2 using

simple random sampling without replacement (SRSWOR) is

(a) 4 (b) 6
(c) 2 (d) 16
Answer any 6 questions from 12 to 19. Each carries 3 scores. (6x3=18)

12.  Write a short note on NSSO.

13.  Prepare a questionnaire for collecting information from individuals who had recovered

from Nipah virus.

14. Compare Primary and Secondary data.

15. The following data is about different age groups of people in a certain locality of a

village :

Age group 0-10| 10-20| 20— 30 | 30-40| 40-50| 50-60 | 60—70

Number of people 5 4 3 4 6 2 6

Draw Histogram.

16. Draw a blank table to represent the details of students in a plus one class, having the

following criteria :

(1) Gender — Boy, Girl, Transgender

(ii) Second Language — Malayalam, Hindi

(ii1)) Mode of Transport — Bus, Own Vehicle, Auto-rickshaw
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11. 80 naatslolad moel allelse)pmeeslcd £1Sl® (GHRadl® Imlo)aleme (SRSWOR)

9alcWIUla] alLa o 2 DSBS af)(@ TLIWIAIW TLIMIB)HUB DENBIGHo.
(@ 4 (b) 6
(c) 2 (d) 16

12 2)®@3 19 0190088 ¢2103363S1G8 a@o®Eslene 6 ag)IROTIM QOMOOAN)®)D>.

3 capod ail@o. (6x3=18)

12. NSSO 6@ 99)0la] 60} e1eel) @)dla] @QOOIH6)D:.

13.  0flal ©9QI00V CROVMBEIW Alid:@IG8)6S allaisasud cusldlenMmaimcalmEw)ss

C210B1001Ell ®QIIHN)D>.
14, (@10100l® og@)o BllGIlw WIg@e ®OO®AC Oa Q).

15. 80) Woomleel 80 @ICdid (@Iedramm aflallw @1 alleonomlenss

@RBHBIOS AWIQ @Y @IOY OAVIBIENIND) :

Age group 0-10 | 10-20|20—- 30| 30-40| 40-50| 50-60| 60—70

Number of people 5 4 3 4 6 2 6

aGlaVEgIUI0 QIODE)D.

16. 8o QIBaH 20WAOHAVHNGZA] FHOQOL! BSIBHBIOS OO 20N aflaloeud

(IGITIWIMo H21QYIMBS alSldhalSHNS QYINOEN)D:.

(1)  ellovio — @RYMBG], HalemBa,gl, Elameilovo

(1) @B BOaH — ARIWIR., aOlN3]

(iii) MVBHSOLITNOIM  DalCWOUIENMN  QAIVaOM  TLoANWIMo — 6NIAY, AVIAMo

QI0a0Mo, BOGSI0IH
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17. Thirty students participated in a quiz programme conducted by KSEB and their scores

are as given below :

20 10 22 5 11 12 20 18 15 14

16 17 2 12 8 6 13 16 19 14

14 7 13 15 17 10 9 10 13 21

Prepare a frequency table.

18. A passenger travelled from A to B on his car at a speed of 40 km/hr and then from B to
C at a speed of 50 km/hr by considering the distances between A to B and B to C are

equal. Find the average speed of the entire journey.

19. The first four central moments of a distribution are 0, 9, —3 and 22. Calculate

coefficient of Kurtosis and comment on it.

Answer any 5 questions from 20 to 25. Each carries 4 scores. (5x4=20)

20. Number and Mean wages of employees working in two shifts in a company are as

given below. Obtain the mean wage of all employees in the company.

No. of employees Average
Morning Shift 200 12,000
Night Shift 100 9,000
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17. KSEB msomil®@ &0 100eMemalQl@d a168:5)am 30 &)Sld8)es qUea00)@3ud

@96 @aVIAleeIM]

20 10 22 5 11 12 20 18 15 14
16 17 2 12 8 6 13 16 19 14
14 7 13 15 17 10 9 10 13 21

@RYQUYBII ISl @QYONIHN) M.

18. &0} @o@®900m A @l@d mlam B @leeiss 40 km/hr. cainmeien. B @la@d mlan C

ofleels 50 km/hr. can@alen. GRIBIHS »HIGIG3 W@ HalQ)aM). GRWISINS

M)9)QINB WI(MWOS YORIVDA] CAIND HeNBYallSlEN)D. (A M@ B a1e60w)s8s 3)00le

B 2y®@3 C a160@)88 3)001}0 @)EI10061M)

19. &) al@osmodileond aoseom moel eaH@lo eaaaq)dwd 0, 9,

af)IQIOEM. BBEZIVIAV 1)EMOIBro dheNE)allSla] @RE]RIWo COIOA|SITTN)D:.

22

20 2)®@8 25 2100W)BS ¢210346BE@3 aBO@BILI0 5 af)ANTBIM DCMOOA) ).

4 @0@0(3 alloo.

(5 x 4 = 20)

20. &0} H>UATQI@ 0 adlaOQBEI@3 ¢220eil 21N e®IYILIEld:8)0S ag)amalle

DOONAl CAMAl) ®IeY MBHIVIGENMM). ag)e)o €R0LNENI0}OSVIe VDEIUDE

GQA®Mo H6N_)allSlen)d.

¢220eila900)9S af)dNo | YOOV
ald@3 osu”loﬂ”g” 200 12,000
@@ alang’ 100 9,000
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21. The mean and standard deviation of temperature of two cities A and B in a winter

season are given in the following table. Which city is more consistent in temperature

levels ?
Mean Standard Deviation (SD)
City A 22 2.8
City B 18 2.4

22. Marks in Statistics of students in two classes are as given below :

Class 1 Class 11
Mode 40 30
Mean 42 35
Standard Deviation 5 4

Which Class is more skewed ?

23. (i) IfP(A)=0.3,P(B)=0.2 and P(A n B)= 0.1, then find P(A or B).
(i1) Details of students in 3 streams of a higher secondary school are as given below.
If a student is selected at random, what is the probability that the selected student

1s from Commerce Stream ?

Stream Number of students
Science 125
Commerce 60
Humanities 65
Total 250
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21. A, B af)aril algemensloc) 6eudiGIeinns @alTIeiw)ns wooduwdl@lo MIME:

AUGIIMAe @96¢ algld@lad @MMIGlEN)IM). @oaldlel QAIGIOIMGHITI aG@®

al§eMA0M B)S)ME3 NAIOHIBB® ?

MWYo 2OM&> A®IWomMo (SD)
gl A 22 2.8
avigl B 18 24
22, oere goqadlonr  Mglages  auogladlamilead
M@l @lBeM) :
o'l oqu'1I
(nleldIN) 40 30
0OUOEI 42 35
2MOM S AUYGIWIMo 5 4

AB® GOQUIETN H)S)MT TVUD M@ N}EMIBHMSB® ?

23. (i)

(i)

FY-432
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P(A) = 0.3 @) P(B) = 0.2 90 P(A n B) = 0.1 9o @resmsslad P(A or B)

&>6N8)allSlon)d.

830} 00BeVEINIA] Mdgloel 3 alleov ol )Sleg)es allolosanud @oey

M@HIDBIB9)AN). 30} *)SlIOW ERMIV@AIW] HBIVHEITINS)HNHXINEM T3

O®OOINS)HNOG MGl EHIEAYTV  alleon@denamss caloamimieigl

af)aoy ?
aileowo DSIHBOS agf)emo
gbllecleghy 125
CHOCAYAV 60
a0 aMIglay 65
@)D 250
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24. (i) In a survey on newspaper reading habits among college students, 60% read
Malayalam newspaper, 40% read English newspaper and 20% read both. A
student is chosen at random. Find the probability that selected student reads
English newspaper if we knew that she/he reads Malayalam newspaper ?

(i1)) If A and B are independent events, which of the following is true ?
(a) P(AnB)=P(A) xP(B)
(b) P(ANB)=P(A)+P(B)
(c) P(ANnB)=P(A)
(d P(AnB)=P(@B)

25. Explain briefly about simple random sampling and stratified random sampling.

Answer any 2 questions from 26 to 28. Each carries 6 scores : 2x6=12)
26. The frequency distribution of the height of 50 students of a particular class in a school

is given below. Draw two ogives and locate median from graph.

Height (in inches) | 50-55 | 55-60 | 60—65 65-70 70-75 | 75-280

No. of Students 4 8 9 20 7 2

27. (1) Rainfall (in mm) recorded on a particular day in various places of Kerala is given
below :
1.8,5,4.8,1,58,2.6,3.6,8.3,24,8.1
Find Arithmetic Mean (AM).

(i1) Calculate mode of the following frequency distribution :

Age 20-25125-30130-35| 35-40 | 40—-45|45-50

Frequency, 20 24 32 28 20 26
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24. (1) Cd®0E8E DH)GDBIONS al(@® AURMOVEN (2] MSEMI® 80} MVde I3 60%
DG DB DRIVWOS al@allo 40% D)GDHUB oyleH al@alo 20% 3)GlHU3 ome
al®al}e AUV HOTRG.  B0) H)SGlOW  ERMIVG2W]
OMOOETNSIHNMN). @) D)5l ALIVWIB  al@o  AIWVIBNAN  @RYBISEMAN
Ql)teolelWilalat:N @o@oﬁ al@o &gl AWlenomMss @@,Josmem”leﬂgl
af) e ?

(i) A ©@p B @p 0me o MHoIgidHB GReOMEBHIT @IOY al0@)NAIVIc3
aB®96M 0@l ?
(@) P(AnB)=P(A) xP(B)
(b) P(ANB)=P(A)+P(B)
(c) P(ANnB)=P(A)
(d P(AANnB)=P(B)

25. eigl® (®00a0l®  (AI®I0)aleMaTMEN0lajloe TV  (AIGIO)aIeMOTNEN 2o
2110863 AflaIdl B9,

26 m)®@3 28 A1OOWBH GalBEBSEIGI 2 af)FROVIN DOMOHAYI®):. 6 cAYIAd
afloo. (2 x6=12)

26.  a&30) uandloe 30) Hoqilenss 50 @)Sleaies @yaIyeD algld ®0e¢ @aNICleaan).
QM LE NGOAILETH QEEIBUB QIR4| GRMIGIMIANo AWV BeNE)a lSlEe)B:.

©aldd8o 50-55| 55—-60 | 60—65 | 65—-70 | 70—75 | 7580
»S1HB)OS af)efo 4 8 9 20 7 2

27. (1) esosomieel afllallw qmuoelasgloe! 680) (ICMid BlalTuacI AYWIOS (m.m.)

@RS @Y HHOS)OIBlHNM]) :

1.8,5,4.8,1,58,2.6,3.6,8.3,2.4,8.1

DOW Yo Do) flSlen)d:

(i) @00 @) @BHAINTITI AlGEMMGITO CAOAW ?eNe)a1S1He)w.

@ | 20-25|25-30|30-35| 35-40 | 40-45|45-50

@aIyeml | 20 24 32 28 20 26
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28. A Survey is conducted to determine the variation in the age of persons who suffer from

diabetics in a certain locality. The results are listed below :

Age 10-20|20-30|30-40| 40-50 | 50-60 | 60—70 | 70 —80

No. of Persons 1 10 30 50 42 30 7

Find Standard Deviation and Variance for this Frequency Distribution.
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28. 80) (ICOS (ICBUODID (@lGRa0o MWl QUGN  (AI0ROENSs

@YB)HOBHN o] 80} LAY MSOMIM) @PDINNE aDLIBBUWE  21)QINS
M@ @lBe)N).
STl V) 10-20{20-30{30-40{40—-50|50-60|60—70|70—80
BRS)HBIOS af)gifo 1 10 30 50 42 30 7

gDV @RYAIYETA®EEMETNOHAZ 20M S AYGIWIMAl)e AYGIWIMAIe HeNB)A Sl
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